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Instructions SorSden :

%

In the duration of 3hrs 15 min, 15min of time is allotted to read

the question paper

3.15 Hobros® SE5HS* MBS 15 Dodres HTYHBLD SHLk

. 8870000520438,

: Answer all the questions in separate answer booklet.

- o) IBrESENO0 8 RBEWES SSFEFBISS0STI TTeHSBlo.

' There are 4 sections and 33 questions.

& BTSS0St 33 HHoo 4 Jgrmen §oI).

- There is an internal choice in Section - IV only.

Qo - IVS'R Do Sr@d vosdd JodEH wlsFo Sudh.

. Every answer should bg written legibly and neatly.

| B BEPEBE0 By HEHOM (TaHITH.
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SECTION -1
Note : 1) Answer all questions in one WORD or PHRASE:
Bod ©d) HHOK w Ho TE FEod WIrFNo Tekod.

2) Each question carries 1 mark.

28 PHK 1308y, _ ‘ ! 12x1=12

1. Statement- A : 7tis irrational.
OS3SS0 -A: el 6505 aomg

Statement - B : All non - termmatmg and non - repeatmg dec1mals

are irrational.
B35S0 - B: ©3) oo 579, 65880 57 SToTen ©) E68aH |
Sopgen. ' ' e ST AN

A) Both statements A and B are true
©SSTren A Sodcio B '60&5:' .03:6:)

B) Only statement A is true
BDSSS0 A Seig :6@.‘66.

C) Only statement B is true
@3S80 B Srgd $056.

D) Both statements A and B are false
: gasmo A $28050 B Bodr ::g;:z: 5.

2. Assertion (A): The zeroes of the polyhomial p(x)=(x~- 1)} (x-2)
. (x-3)are1,2,3 Snwt gl

SELS (A): p(x) x-1DE-2)(x-3) eamm& &ws‘b
Brdgdenden 1, 2 Sobasw 3.

[ Contd... 3rd

b A A a’ as ok B mia oa M enta SRR o Macnd R o 4 B o oo TR SRR ke Lt & L g rp

3 , MR-4

Reason(R) : The zeroes of a polynomial are.the x - coordinates of the
g .pomts where the graph of the polynom1a1 intersects or

_touchesx axis.
T80 (R): 2250hs %Jva"geao,_aa;’mo“)& HEBmo BE), S Do
X - o5Q) Po&odSHL Bor 859K GBS DodoPe
X AEFHSen 8HS 00.

A)-Both A and R are ture and R is the correct explanation for A
A 50005 R Bod» $3ID 508050 R, A G0, 98 236

B) Both A and R are ture and R is not the correct explanation for A
A SoBas® - RBociov 5932 :éoaoﬁao R, Ams’b J05 DS 5.

C) A ;s lrue but the R is false ‘
A $356, 570 RIDS8 570,

D) A is false but the R is true '
A 058 5°¢%, 570 R «03:6&

* 3. Zeroes of the fzolynomial x2—4x +41is R - 3 [ ]

wHoHB X2 - 4X +4 Gof), Ty den

M1
B)2

C)3 .o i N : . g oF = )
.1))4"'. | o =
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4. Form a pair of linear equations for the given information.
"The coach of a cricket team buys 7 bats and 6 balls for ¥ 3800 later
he buys 3 bats and 5 balls for %1750."

| 508 2 SIrTT I8 TP SHEGETe 8 SrHBH0d.,

“e.8 S35 §5 7 wrgSo, 6 erdod T3800 0 FI%. 6T, RN
3 ey, 5 oo T1750 & 3%, :

L If -;— is a root of the equation-x2 +kx - % 0, then the value of 'K'

is

x> +kx— % =0 o3 J0¥600 BY), o€ Sorosn % wond 'K'
dend : j

. Match the following. : S ‘[. ]

2 SHEBS0. ‘
1) n" termof AP : - [ 1 P)2pa+@-1)d]
a,a+d,a+2d...
a,a+d,a+2d ... ©osFaS*
n3S Hdo FT A ey :
2) Sum of 'n' terms of A.P, whose© - [ ] Q :a +(n-— ljd
first term ‘2’ and last term ' " ‘ ' o
©o8E&S* n e odgo
S065¢3 HeSo a Sodaso DO 8o | =IO
3) Sum of 'n’ terms of A.P [ 1R Z@+)
©oEEéeS* 'n' dmre E.bogo' -
" A)1>P,2-5Q3->R  B)1>P,25R,35Q
C)1->Q2—-P, 3-5R D)1-Q,2—>R,35P

[ Contd... 5th

7.

8. If tanx® = 1, then what is the value of x°

‘AABC S080%0 ADEF ev 38>»aren. AB=4 73 2w0.20., DE=6%

5 ' MR -4
If AABC and ADEF are similar. If AB =4 cm, DE=6cm,EF=9cm and
FD =12 cm, then perimeter of AABC is cm.

o

EF= 9 00.20. $980%0 FD = 12 0.5%. @cns, AABC &:;ézz....‘% o
- o.h. :

r—
.

tanx® = 1 @o0S x° Jend

~A) 30°

B) 45°

~.C) 60°

D) 90°

. Draw the diagramfor the information given

" "from a point on the grohnd, the imgle of elevations of the bottom and

topofa tower fixed at the top of a 20m hight building are 45° and 60°
respectively.

808 B SerodsnId D) hosod.,

- 10.
o8 Syso fogor

20 2o, PEYKD &8 EHF0 PHF) SE B, v o 45° 00080
60° éegsgea‘oé‘ Jo D) 8 i)od)@éa ‘53-@5\&

A circle can have

parallel tangents at the most.
JEr0g8 9)8) Dpod $94 doinod.
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11. Surface area of a 'Top' is the sum of curved surface areas of i ©15. Wri y | | |
o . . o - Write the similarity criterion for the following similar triangles and write

in symbolic form. '

and ‘ ‘ _
&.§ SToKgo ) dBdge JTogo I il _;’»505&3 St
S05* 9Bl @zheren ) cho BFrlomr JEr>St Bthae

SES0 Prorge IngSw.
SErBE Ko BdRFA0D TraHos.

12. The sum of the probabilities of all elementary events of an

experiment is

&8 [B@EKO B0, ©J) (FEE PbJ Hogrsgde Boddn
] N

Note : 1) Answer all the-questions. o el Sri i g

80d &) L;’:E’Q_oga SHEFTHE TEH08.

2) Each question carries 2 marks.
8x2=16 -

13. Draw the rough diagram of the quadratic p olyn om_ia_i R | ‘ . 16. Find the point on the X - axis, which is equidistance from the points
p(x)=ax2+bx+c,é1¢0,whena>0. : ’ (2,-5)and (-2,9)

58 BHS 2 Sy o

(2,-5) 508050 (-2, 9) Dot 353 drdos* X - wfo o

‘D&derd) Aood. ' ;o - DodaHod Kgosod.
17. Iftan(A +B) = {3 and tan(A-B) = J5 0° <A +B<90% A>B.
Find A and B. '

p(x) = ax? + bx + c,a# 0_, BoBoSw ‘a,>> 0 @0}326;3;,:5?23:;'7‘358 aaogz,

14, Check whether (x + 1) = 2(x ~ 3) is a quadratic equation ornot ?
(x+ 1)% = 2(x - 3) 3§ 32860 ©H&0E B 5080008 ,
tan(A + B) = |3 0% tan(A~B) = J5 0°<A+B <90° 5850

A>B eond A 0050 B devden §0rS08.

[ Contd... 7th s : [Thrn Over
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18. A tower stands vertically on the ground. From a point on the ground

19.

20.

which is 15m away from the foot of the tower, the angle of elevation of
the top of the tower is found to be 60°. Find the height of the tower.

o€ £S5 30D RIWHT Sob. LIE G0 Fod 15 B Erdos® &
o€ Do Hod &I6 D §‘<‘6§o 60 3] éigsgssaoé‘ SRS, L6
K% SHFIo8. '

Two concentric cirlces are of radii 5 cm and K) cm. Find the length of the
chord of the larger cxrcle which touches the sma]ler circle.

5 0.2, $8a5» 3 o)oib a‘gé'g;&nué‘ Boka ¥ Sol 5365‘03

ﬁoﬁmagma.&@éﬁ;&)labaggé.ug 5355»5’-“5”5?: &g PEYS EOFI0d. -

\

2 cubes each of volume 64 cm’ are Jomed end to end. Fmd the surface -

Vi

area of the rcsultmg cub01d &

2,598, dBodoso- qwéobssreao 64 0. bo ™ fe'2 :oa’nq)oa‘e:éa Ll
D8 HTES vd8oTdr e Sdom .)63&6 faYe] q:oéo cﬁwéb ﬁabéo

3-2'080 Eoirdod.

1S NG 4

[ Contd... 9th

o
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SECTION - III
Note : 1) Answer all questions.
Bod vd) BHOH ISrFISoed oohob.
2) Each question carries 4 marks.

B8 BH 5 4 STy . 8x4=32
21 ' y - axis

Ex

ONREE

“2.6¢ ] “,6)

o

34

24

14

Desgegas

(10)‘_1.

Answer the folldwing questions.
& TS 56490 (808 B wTwed adged.
a) Name of the shape of the graph

(TPHS' us8o o), D o°0508.
Vb) How many zeroes are there for this shape.

& 658 Q) %:vargé» gud?

¢) The zeroes of the polynomiai

& H0Hd RN, TTEeo D?
d) Product of the zeroes of the polynomial.

& 2Hvdd TIge oxo RS0,
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22. The product of two,consecut

2%

24.

25.

26.

ive positive integers is 306. Find the
‘integers.

Bodks $&S SIFg éospge:;‘ ée(ga‘m 306. @oaa;é_ es'éozpsoéo é&ﬁéo&.
The sum of first 14 terms of an A.P. is 1050 and its first term is 10, find
20" term. : '

©oSEAS* o TG 14 Hrreo Fogso 1050 Sobase FnGE BEo 10
®0o0S, 205 HEo EHoFrSod.

Prove that (sin A + cosec A)2 + (CosA + secA)2 =7 + tan®A + cot?A.

(sin A + cosec A)2 + (cosA + secA)z_ =7 + tanzA' + cot?A o
DEFBOS0A. |

Prove that the pérallelogram circumécribing acircleisa rhombus._

&8 S570SE BEEYROS* &8 S WOSFHOTABS BB eI
OIS S04, : o |

A tent is in the shape of a‘cylihdelb' 'sﬁnnounfed by a conical tbp. If the
height and diameter of the cylindrical partare 2.1 mand 4 m respéc-
tively and the slant height of the top is 2.8 m, find the area of the canvas
used for making the tent. v o l o ‘

&8 HEdo STECD ©HEBAS fokh 6560s" ob. Sped e
SH), I, TR SEDM 2.1 Do, 6053 4 . F0%03 w560 B
oo GBoE), dbaren D& 2.8 Do ©ond © KHET D8 SEOLS s
g dTogo ESA S0,

[ Contd... 11th

11
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27. Write the formula to find the ‘mode’ of grouped data and explain its terms.

SRS Sar0d0 DY), erFudEo EHFSTIE @) 00008, ©oBd

C Hmrel 880808,

- 28. Adieisrolled. Find the probability of getting

a8 FDESH w830 E'RoDSHE
0 i) A prime number
ag @a':s:aong
; i) ; ﬁurnberj gfeatlenﬁan_4 “
: 4 5;:3?.>§ éoaog
’ v iif) ‘Factors of 6 |
ey
1v)an e;/e'n p‘rimeb |

BOBES Hopg Sk doarSgSo

o S08.
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Note :

12

SECTION - IV

1) Answer all questions.

$00 o) BH o ISrTISwe Tcok.

2) There is an internal choice for each question.

3) Each question carries 8 marks.

D8 D)% woSES JoDE S,

B3 BHK 8 Sty e.

29. a) Provethat /5 is an irrational.

V5 28 86805 Sopg © dEFRoBOA.

(Or)

b) A girl of height 90 cm is walking away from the base of aiamp - post

30. a)

b

~

ata speed of 1.2 m/sec. If the lamp is 3.6 m above the ground, find the

length of her shadow after 4 seconds.

2.8 85F080 WK erifo S0k 1.2 Do/ Sifos® 90 0.2, &Y Ko

¥ S8, I0D erKo $o0d B025o 3.6 M. I EOA 0¥, 4

D80 SHTE © w8 D FEH SHoFSos.

Find the co-ordinates of the points of tn'sectioh of the linesegment
joining the points A (2,—2) and B(- 7, 4).

A (2, -2) 28050 B(=7, 4) DotrHess §05 '6:;3*339&5":001 Sozech
DS Frmre (BEPE00B DoY) AErHT O EHFSs.

(Or)

A chord of a circle of radius 12 cm subtends an angle of 120° ¢ the -
centre. Find the area of the corresponding segment of the circle

(Use n=3.14 and /3 =1.73)

12 20.20. Fgargor e Sydo Book), 2.8 ag Bogo 3 120° §‘ga,o.

BoBotHE)D. o HowodS &g VST Sy8 pocs DTG0 EHFS0s
(n=3.14 5605 3 =173 1 &i%ss'od.)

-~

[ Contd... 13th

5x8=40

13 - MR - 4

31. a) One card is drawn frofn a well shuffled deck of 52 cards. Find the
. probability of getting

T Sendads DESNY © (52) 8 08 28 58 B0Hn836. wond.
©8 808 56 BHLK BorSgEs SRS,

i) aking of red colour .

20 QB ore
_ii) aface card

5:0:_05‘68

iii) ared face card

D603y SnPSR

iv) the jack of heart

Irysaso Koy e b
v) aspade- :
S
vi) a quéen of diamonds
85008 K8 fio ooed

vii) an ace of black colour

Send) Sos DD

viii) not a face card

'5.)5:4) 58 5°08 _
- (©on

b) From apoint P on the ground the angle of elevation of the top of a 10m

‘tall building is 30°. A flag is hoisted at the top of the building and the
angle of elevation of the top of the flag staff from P is 45°. Find the

length of FLAGSTAFF, find the distance of the building Trom the

point P.

30 P od D0 $008 HDH0S D 10 Do. & Ko 8 $550 DIES'

T g0 30° & P53 P w8 Bow Foso woB P3G Hod

Bom Jogsn P IS T digis'mo 45”7 ©onS Bow Joafo Gy
- Jey BB FdPo Kood P& Ko Sroreds $HrSod.

[ Turn Over
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32. a) The following distribution shows the daily pocket allowance of
children of a locality. Find the median of the data
&8 T | Fodos' dyo Fwad 38 spda‘)e Z)éc‘oa & Léob oéﬁée.?‘_
QIgBID. T ﬁaégﬁé;ﬁ» ESHrSod.

Daily pocket allowance

131321515+ -19(19-21|21 2323 - 25
oo B0 B8 bty 11-13)13-15(15 - 1717 - 19|19 2121 -23) |
Number of Children 7|1 6 | 9 | 13|25 | 4
doo Sopg ' : : i
(01')

b) The sum of ﬁrst n’ terms of an A. P is 4n n2 2 S ‘
&€ 905@&6‘ o058 'n' éc'o 33:6;50:: 4n n @cm;s L

i) What is the first tcrm"
30885 ado el B

ii) Whatls the sum of ﬁrst two terms" .
3006583 Bodk Dare Ivdo
iif) Whatis 2 term?™
BoKS HEB»
iv) Find 3", 10" and n'™ terms.
35 DEB0, 105 HEH0 S0805w N HESwoH EXHFSos,

[ Contd... 15th

A P W I PP R O

33. a)

15 MR -4

Draw the graph of the equations. x —y + 1 =0and 3x + 2y - 12 =0.

~ Determine the co-ordinates of the vertices of the triangle formed by

b)

these lines and the X - axis and shade the triangular region.

\x y+1 -0;’»60&» 3x+2y— 12 = 0 $5086eros o AcHod.
_éa '6@66‘ $08050 X - g0 IS @he 30708 H80Eed Sr0aso

Behers™S (@os ) wE Bood.
(Or)

Form the pair of linear equation and find the solutions graphically.
BIHS aSAS S503g8 THDH YO BEH SArGHBa0oA.
B08a50 (TP HFBS* FESK0 LTS8,

v penciis and 7 pens together cost ¥ SO where as 7 pencils and 5 pens

together cost ¥ 46. Find the cost of one pencil and that of one pen.

5 DR 2005 7 Losow §8o ngo deos T 50. soh

7. 2Rty So8aso 5 595.:90 G0 Ingo Jend T 46 vonS 2.8
DYS 0050 2.8 Eosn JenSo FHFSs.



